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1. Hatural Monopoly

h giopt eleckric utility has discotersd a new process for power
generation whieh invelvez deelining costs. The total cost is given
By: TC= Lévg, - 0.01*0°. Suppoze that the power compeny is
surrounded Ly 10 uzers of electricity. Eech of them has a demand
curve given by: 0, = 40 - P. If unregulated, what guantity would
meMimize profits flop the utility? At this guanktity, what iz the
price and what are the utility'e profits?

- 2. Publlis good

Just north of the towm of Muskret, Ontario, is the town of Bras:
nonkey, population £400. Brass Mankey, like Muskrat, hae a single
public good, the town skating rink, and a Gimgle private good,
Labatts ale. Everyone's ukility functieom ie U (X, ¥) = M, = BLSY,
where X, ie the number of botiles of ale cobsumed by i and ¥ ks the
size of the skating rink in sguare metere. The price of ale §s 51
per bottie. The cost of the skating rink to the city is 54 per
sguarae meter. Everyone hae an ipsome of ak lcast 55,000, what 1s
the Parete officient aize for the town sketing rink:

3. Motiomal i1ncodo

Usa the following table infermaticn to anewey guestions {aj-—(&):

Y C T G X

5100 5140 £20 £30 510
A0 300 20 30 -10
& O 580 20 30 =20
700 GAG 20 a0 =&

1a] What does the multiplier egupal?

(b) What is the eguilibrium level of national incomes

tcy If governmgnt spending increazes by 520, what is tha new
eqitilibrium level of natiopal income?




